

## About Bernstein polynomial and the Stirling's numbers of second type

OVIDIU T. POP AND MIRCEA FARCAȘ

ABSTRACT. In this paper we want to determine the coefficients of Bernstein polynomial associated to the functions  $e_k(x) = x^k$ ,  $k \in \mathbb{N}$  as well as the degree of this polynomial.

### 1. PRELIMINARIES

Let  $B_m : C[0, 1] \rightarrow C[0, 1]$ ,  $m \in \mathbb{N}^*$  be the Bernstein operators, defined for any function  $f \in C[0, 1]$  by

$$(B_m f)(x) = \sum_{k=0}^m p_{m,k}(x) f\left(\frac{k}{m}\right), \quad (1.1)$$

where  $p_{m,k}(x)$  are the fundamental polynomials, defined by

$$p_{m,k}(x) = \binom{m}{k} x^k (1-x)^{m-k}, \quad k \in \{0, 1, \dots, m\} \text{ and } x \in [0, 1]. \quad (1.2)$$

For  $x \in \mathbb{R}$ ,  $k \in \mathbb{N}$ , let  $x^{[k]} = x(x-1)\dots(x-k+1)$ ,  $x^{[0]} = 1$ .

It is well known that

$$x^k = \sum_{\nu=1}^k S(k, \nu) x^{[\nu]}, \quad x \in \mathbb{R}, \quad k \in \mathbb{N}^*, \quad (1.3)$$

where  $S(k, \nu)$ ,  $\nu \in \{1, 2, \dots, k\}$  are the Stirling's numbers of second type.

These numbers verify the relations

$$\begin{aligned} S(p, k) &= kS(p-1, k) + S(p-1, k-1), \quad S(1, 1) = 1, \\ S(2, 1) &= S(2, 2) = 1, \quad S(p, 1) = S(p, p) = 1 \end{aligned} \quad (1.4)$$

for  $p \in \mathbb{N}$ ,  $p \geq 3$ ,  $k \in \{2, 3, \dots, p-1\}$ , and then can be calculated with (1.4)

				1					
				1	1				
		1	3	6	10	15			
	1	7	25	65	150	301	420		
	1	15	90	420	1587	4851	11718	24447	
	1	31	301	2431	15015	75273	311151	1111740	3517236
1									
...									

---

Received: 10.07.2005. In revised form: 20.10.2005  
 2000 *Mathematics Subject Classification.* 41A10, 41A36.  
 Key words and phrases. Bernstein polynomials, Stirling's numbers of second type.

We denote  $S(p, k) = 0$  from definition if  $p, k \in \mathbb{N}$  with  $p < k$ .

## 2. MAIN RESULTS

**Proposition 2.1.** *If  $m, p \in \mathbb{N}^*$ , then*

$$(B_m e_p)(x) = \frac{1}{m^p} \sum_{k=1}^p m^{[k]} S(p, k) x^k. \quad (2.1)$$

*Proof.* We have

$$\begin{aligned} (B_m e_p)(x) &= \sum_{k=0}^m \binom{m}{k} x^k (1-x)^{m-k} \frac{k^p}{m^p} = \\ &= \sum_{k=0}^m \binom{m}{k} x^k (1-x)^{m-k} \frac{1}{m^p} \sum_{\nu=1}^p S(p, \nu) k^{[\nu]} = \\ &= \frac{1}{m^p} \sum_{\nu=1}^p S(p, \nu) x^\nu \sum_{k=0}^m \binom{m}{k} x^{k-\nu} (1-x)^{m-k} k^{[\nu]} = \\ &= \frac{1}{m^p} \sum_{\nu=1}^p S(p, \nu) m^{[\nu]} x^\nu \sum_{k=\nu}^m \binom{m-\nu}{k-\nu} x^{k-\nu} (1-x)^{m-k} = \\ &= \frac{1}{m^p} \sum_{\nu=1}^p S(p, \nu) m^{[\nu]} x^\nu (x+1-x)^{m-\nu} = \\ &= \frac{1}{m^p} \sum_{\nu=1}^p S(p, \nu) m^{[\nu]} x^\nu \end{aligned}$$

so (2.1) holds for  $m \geq p$ . If  $p > m$  (2.1) holds, too, because  $k^{[\nu]} = 0$ ,  $k, \nu \in \mathbb{N}^*$ ,  $k < \nu$ .  $\square$

## 3. APPLICATIONS

**Application 3.1.**  $(B_m e_1)(x) = \frac{1}{m} m^{[1]} S(1, 1) x = x$ ,  $m \geq 1$ .

**Application 3.2.**  $(B_m e_2)(x) = \frac{1}{m^2} (m^{[1]} S(2, 1) x + m^{[2]} S(2, 2) x^2) =$   
 $= \frac{m-1}{m} x^2 + \frac{1}{m} x$ ,  $m \geq 2$ .

**Application 3.3.**

$$\begin{aligned} (B_m e_3)(x) &= \frac{1}{m^3} \sum_{k=1}^3 m^{[k]} S(3, k) x^k = \\ &= \frac{(m-1)(m-2)}{m^2} x^3 + \frac{3(m-1)}{m^2} x^2 + \frac{1}{m^2} x, m \geq 3. \end{aligned}$$

**Application 3.4.**  $(B_3 e_4)(x) = \frac{1}{3^4} \sum_{k=1}^4 S(4, k) 3^{[k]} x^k = \frac{12}{27} x^3 + \frac{14}{27} x^2 + \frac{1}{27} x$ .

**Corollary 3.1.** *The degree of  $(B_m e_p)(x)$  is  $p$  if  $m \geq p$  and  $m$  if  $m < p$ .*

*Proof.* We have  $m^{[k]} = 0$  for  $k > m$  and all results from (2.1).  $\square$

In the paper [2] is proved the following

$$(B_m e_n)(x) = \frac{1}{m^{n-1}} x + \frac{(m-1)!}{m^{n-1}} \sum_{k=1}^{n-1} \frac{x^{k+1}}{(m-k-1)!} \cdot \sum_{i_1=k}^{n-1} \sum_{i_2=k-1}^{i_1-1} \cdots \sum_{i_k=1}^{i_{k-1}-1} \binom{n-1}{i_1} \binom{i_1-1}{i_2} \cdots \binom{i_{k-1}-1}{i_k}, \quad (3.1)$$

for any natural numbers  $m, n$  and any  $x \in [0, 1]$ .

**Corollary 3.2.** *We have*

$$S(p, k+1) = \sum_{i_1=k}^{p-1} \sum_{i_2=k-1}^{i_1-1} \cdots \sum_{i_k=1}^{i_{k-1}-1} \binom{p-1}{i_1} \binom{i_1-1}{i_2} \cdots \binom{i_{k-1}-1}{i_k}, \quad (3.2)$$

where  $k \in \{1, 2, \dots, p-1\}$  and  $p \in \mathbb{N}$ ,  $p \geq 3$ .

*Proof.* The coefficient of  $x^{k+1}$  from (2.1) is  $\frac{m^{[k+1]}}{m^p} S(m, k+1)$  and from (3.2) is

$$\begin{aligned} & \frac{(m-1)!}{m^{p-1}} \frac{1}{(m-k-1)!} \sum_{i_1=k}^{p-1} \sum_{i_2=k-1}^{i_1-1} \cdots \sum_{i_k=1}^{i_{k-1}-1} \binom{p-1}{i_1} \binom{i_1-1}{i_2} \cdots \binom{i_{k-1}-1}{i_k} = \\ & = \frac{m^{k+1}}{m^p} \sum_{i_1=k}^{p-1} \sum_{i_2=k-1}^{i_1-1} \cdots \sum_{i_k=1}^{i_{k-1}-1} \binom{p-1}{i_1} \binom{i_1-1}{i_2} \cdots \binom{i_{k-1}-1}{i_k} \end{aligned}$$

so that (3.2) holds.  $\square$

#### REFERENCES

- [1] Coman Gh., *Analiză numerică*, Ed. Libris, Cluj-Napoca, 1995 (Romanian)
- [2] Pop O. T., *About Bernstein polynomial*, Octogon Mathematical Magazine, **12**, No.1, 2004, 117-122
- [3] Stancu D. D., Coman Gh., Agratini O., Trîmbițaș R., *Analiză numerică și teoria aproximării*, I, Presa Universitară Clujeană, Cluj-Napoca, 2001 (Romanian)
- [4] Tomescu I., *Probleme de combinatorică și teoria grafurilor*, E. D. P. București, 1981 (Romanian)

OVIDIU T. POP  
VEST UNIVERSITY "VASILE GOLDIȘ" OF ARAD  
BRANCH OF SATU MARE  
MIHAI VITEAZU 26, 440030 SATU MARE, ROMANIA  
*E-mail address:* [ovidiutiberiu@yahoo.com](mailto:ovidiutiberiu@yahoo.com)

MIRCEA FĂRCAȘ  
NATIONAL COLLEGE "MIHAI EMINESCU"  
MIHAI EMINESCU 5, 440014 SATU MARE, ROMANIA  
*E-mail address:* [mirceafarcas2005@yahoo.com](mailto:mirceafarcas2005@yahoo.com)